é % il m Multiplique decimais por poténcias de dez
Nome: Encontro: Data: Pontuagio:
7.704 % 10 = 2,073 x 10 =

6,657 x 100 = 8, 698 x 10000 =

6, 704 x 1000000 = 4,438 x 10000 =

1,183 x 10 = 6, 091 x 100000 =

8, 808 x 10000 = 2,99 x 10 =

8,194 x 10 = 8,95 x 100000 =

7,626 x 100000 = 9, 74 x 1000000 =

8,706 x 10 = 9,003 x 10000 =

9,524 x 100 = 8,969 x 1000 =

8,464 x 100000 = 5, 838 x 100000 =
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! 5% B | - . .
P = m m Multiplique decimais por poténcias de dez

Nome: Encontro: Data: Pontuagio:
7,704 x 10 = 77.04 2,073 x 10 =20.73
6,657 x 100 = 665.7 8,698 x 10000 = 86980
6, 704 x 1000000 = 6704000 4,438 x 10000 = 44380
1,183 x 10=11.83 6,091 x 100000 = 609100
8, 808 x 10000 = 88080 2,99 x10=29.9
8,194 x 10 = 81.94 8,95 x 100000 = 895000
7,626 x 100000 = 762600 9, 74 x 1000000 = 9740000
8,706 x 10 = 87.06 9, 003 x 10000 = 90030
9,524 x 100 =952.4 8,969 x 1000 = 8969
8,464 x 100000 = 846400 5, 838 x 100000 = 583800
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